
20. K-Raq 20. Kt-R3 (b)

22. Kt-Q5 (i) 22. R-XKsq
23. p-H8 (j) 23. 13--B3
24. P-B5 24. BxiKt

3.25. QxLB 25. pzP?
26. RtPxl? (k> 216. Q-B2
27. Q--Q2 27. QR-Qsq
28. R.-B4 28. K-Rsq

S30. QR-11KBsq 30. >x-P (m)
31. xp 31. R-Et2 (ai)

___________ 32. Q--Q4! 32. X-Ktsq
33. R--Qsq 33. U-Kt3
34. P--K5 34. Kt-KtSQ (o)

FOUNDED 35. r(Qsq35.K.Beg l
1865 87. QxIR 37. 1t-Q2(Q m C

38. Q-Kt5eh ~ 38. K-Eaq
39. RxP 39. R-KtsqÀ eiefd
40. Q-.i6. ilesigns (r)>o.Picpl

(a) This developinent is uflusual and l o. rncpl
more effective against P-K3, than when Prindlp1 Miss)

Blckiso, ado)pts ýthe !ing's Plajchetto.
(b> This la rather a -Wifl o' the wisp.", Pau, and Hanor N%

A developing move would be more in Art, M..ic, Domne.t
order. ittcLreP(o) B2IKt seems 0preferable.

(d) P-C4 would block in the King's PRIMARY SCH(
Blsbop. and also leave the Queen's Pawn uu13erinherently weak.

gicu rang.le (e) To prevent Kt-B5 later. FrpopcugICI ~ ~ (f) Otherwise the Knight has, no re-
L (C.b.)treat.
sco6sk<g> We do flot see the objeet of tie
rpt. 12tadvance. Par better would Lave been

17. Kt-Q5.
(b) The "crulse" of Black's ilI-starred

Kniaght dfinally winds up on a bleait andIj~(distant shore. The alternative 20..U N E Kt-B33, would be answered éby 21. P-
Kt4 Q--K3;22. Kt-Q6, Q-Qsq (if

and "'~'(i) 22. P-R5 woui1d be adequately met
surroundns 30 by 2,2. . -3>oloe, 200 acreS Of (J) HIe ni ght bave deferred this InLMn. large campus. f-avor ýof 23. QR--Qsq, tii eatenl2lg 24. K~t 9L(anaaL*hing conducive o xPh ecprepar.d for Uni- (k)b 2t. RPwudb oefril.Aý, (usn)s 26 Xi OiI >mr fribeA
me niakng. unider a matter of fact, we have failed to evolve OPENS ITS Ta plausilie line t meet it. If 26..,p oN sEPTEW

-K.3. th.ii 27» R-KTt5eh. K-- 9,R n NINETEE% nu]


